HH - B 2022/6/4 FHR ey
Btk 20224F-FE ZF AR B X R AR e R AR g
B4 e A7 70 Rie Esitis FLERET Pt |
FHH K4 Ml B g thh 4 Fe Tl
A4 &R A 20 3NL 4z 5L 6L {402 8fir
BT | 654 200m He E3(3) w23.14 (+4.5)| =8 5 E0) w23.30 (+4.5)|HH FIXQ) w23.61 (+4.5)| E+E EBHEQ) w23.84 (+4.5)|F1E E2NVv @) w23.94 (+3.1)|BR HEK(3) 2399 (+1.6)|EHE FA®Q) 2406 (+1.6)| & B EIK(Q2) w24.17 (+4.5)
FR-FEE— B - & TR|IER-ARF TR|#HHHA-Kh TR|#&E-#8)IIh TR|ER-F#xeh TR| %5 /Nteh TR|# %A R TR
65140 400m ERE E®G) 5458|F1H S22V () 55.31|F 1L EZEQ) 55.39| KE (@) 55.92|EE [ &) 56.07({k#%E EXE®Q) 56.14[85 K BA(2) 56.88(# {EAEAG) 57.13
FiR-&@ES$ TR|{EE-48)1I TR|#iiR- SHEH TR| iR M+ TR|#18- WEF FHEE-F—p i Nep AR -FERdSp
6H40 200m RIE BEMEQ3) 2:11.45|F 1L BE) 2:14.10|1£8 &EK(Q) 2:14.48| 755k EIRQ2) 2:1502|#f %A @3) 2:15.36(/ ik B h(3) 2:15.40|¥A1L #HK(3) 2:16.54| K8 X—@) 2:16.78
- BERD k- EiEs ;iR W% 1EiE - miEES 1EE - maiEES FiR-#®Ep HFEERIER FHEE-ARAp
6940 | 1s0om |70 BAD 43144 MK RE(3) 4:33.25 HAl #AK() 4:35.43 R IR BiME(3) 43675 %4 M) 4:38.25| K4 #eH(3) 4:38.28| = KFI(2) 4:30.38| 11 BID@) 44017
AR-ARILF k- BERSH FFEMB-RER i BEP AR-ARH HE-FEE—H EE- 4811 cp FHRE-RAp
65140 2000m AL REQ) 9:38.60| A#F #¥th(3) 9:57.65| %t F=—(3) 10:19.75|165E FFEQ) 10:28.53|H:E EHE(3) 10:33.59| HK [&th(3) 10:43.38| Ik 122R(3) 10:55.16|1EE HH(2) 10:56.44
R -EHEP TR|# LA EE—h & - miEET ER-ARF i AREH FHE-AAP FAI % - KR R £ ()
e - KB #HEKEB) w1575 (+2.3)| & RIEQ) w15.89 (+2.3)|iBiE I&4£Q) w16.06 (+2.3)| K& E(3) w16.30 (+2.3)| R+t 1&#5(3) w16.39 (+2.3)|FIE8 KF&(3) w16.53 (+2.6)|JI1#F &K (2) w16.64 (+2.3)[KE EE®) wi7.21 (+2.6)
FR-EE— TR|#i5 - IR FHm TR|#FHMA-F—h TR|#8- KF & TR|#8-A+EH TR| ¥R &5 E (%) TR| %A BRI TR|{EiE-48)II
;iR AFHA 45.96| ik FEE —F 46.32( i8R - SAE 46.61(RAM - FEHA 46.67(FTFH-F—F 46.95(%i5 - RIHH 47.25(Fi - [Nt R 47.28(¥FH-RHA 47.63
iR [LFEQR) B #3) S BKE) B EEQ) BHF EEOQ) e ZRB) Kig E(Q) BE KEO)
6J14H 4x100mR  |B§JIl f@H(3) R Il E=EG) TR FE HEE) TR A+ EHQ) R EE 18EQ) R MR BKR3) R BH EAQ TR At+E EBHEQ)
KiE &E@O) F HHEQR) KHE #@3) B E@Q) SR E(2) AR HFEER) Fil NIy = () EE #3E)
KFE EBIHE) He F33) A+E HEQ) ER HEQ) 2R 7L20) H# 533) &I H3HQ2) A EKQ2)
67140 Erk HH EAQ 1.60[ARJII 1Ly iK(3) 1.60[ Ll ZiK(1) 1.45|3% GR(Q2) 1.40|E+E EHQ2) 1.40|SHE #E0) 1.35
;iR KRz FHRE - LEFH HER-ARIF i KP BaM - g B A)IH
6A4E fr— RHE BFHQ) 230|FAR AR 2.10
HHEME-FEBR #FEME- BB
674 ik L 1M E3) 6.45 (+2.0) /iR K@) w6.25 (+4.7)| k. KR(3) w5.91 (+3.3)| K BH(®3) w5.88 (+2.2)| %8 #(3) 5.68 (+2.0)| R {EEX(3) w5.62 (+2.6)| €8 HEKR(3) 5.45 (+1.4)|/pE #RK(2) w5.29 (+2.2)
FHEE-LEFH TR|#iR- 254 TR| ¥R =@+ TR| iR - AP H TR|FTHMA- R R FERE_H Jt3E-2EgEH ;R Itep
65 4H g BE ) w9.62 (+3.4)
AR-ARH
674 o %k RO 11.13|K% Q) 10.50|;&i0 Hh(3) 10.13[ KA ##E(2) 9.50(/\ il 5 1RI(3) 935K X£&E®Q) 8.50|H#iE FEQ) 827|H%E B 4<#E@Q) 7.99
kg -EiEES TR| ¥R NFih TREE - #8)1I TR|#ri5 - /M #hrep HEA-ELQARD dbis-EBgE dt3%- BB gEch iR K
6748 | v~y pan— A+ EKRE) 42.85|Mk Q) 42.103%F BAQ) 36.90|TEFH HE®Q) 35.33|JIlE fH(2) 35.12| & fHRE) 33.90|BATED HEH(3) 27.27|RB)1 1EQ2) 26.97
R Kigeh i Kigeh HR-FEkG FHEA-FE—t ik Rigeh B - g FRA-KEFD FHEE-LEFSD
eRan | s fIE KFEQ) 1862| LA B () 1691|5kFH MHHAR) 1526(ithiE FH(2) 81985 BRIE(Q) 818
iR - mEhE(t) TR|ET &M £R2 K P FHEE-MNA)IH - KPS - APS
6A4H 110mH 16.77 (+1.7) 17.29 (+1.7) 22.33 (+1.7) 27.41 +1.7) 19.19 (+1.7)
64K AL 8.71 8.29 9.81 6.90 5.01
6H4H ARk 1.45 1.40 1.60 1.35 NM
674H 400m 58.82 1:00.51 1:00.43 1:06.10 1:06.84
e 640 L00m J\E HEA) wi12.30 (+2.6)|/INE  FHE() w1241 (+2.6)| &3 BE(1) wi2.44 (+2.6)|#AK #EH() wi12.56 (+2.6)[JE& K1) w12.69 (+2.6)[AE& [REL(1) wi2.72 (+3.4)[FEAR A w12.86 (+2.8)| BH 1) w13.08 (+2.6)
BaM-th&h TRI|$iR- &P E () TRI|#FE-Rp TRI|FHEA-KEFD TRI1|$if- Kig TRI1|$ri5 - NE TRI[FHH - RIED TRI|Er @ - a1 h
6448 1500m kg HFEQ) 446.51(7E@ &) 4:4927| KB EH#H) 452.13| K FE  EH#() 4:54.96(F11L #EHA) 5:07.06| K& B 5:12.04|FE ER(1) 5:16.85|/M ik E(1) 5:18.85
AR-ERS TR1|#&- M #ich TRI|BAA - & TR1|#%E - A p TRI|[#%E- A5 MR ik T iR EEhE(H)
Y. 674 Loom EA K@) 11.86 (+1.6)| KT Z{=(2) 12.09 (+1.6)|51/8 () 1214 (+1.6)| E+&E K3EQ) 12.16 (+1.6)| JIIFF &K (2) 12.21 (+1.6)| T FALA(2) wi2.24 (+33)|ERIE Z1(2) w12.30 (+3.3)|FEH HIAQ) w12.33 (+3.2)
B -Hop TR2|#1i5- Kz TR2|#HFMH-5E—h TR2|FEE-REP TR2|#1i5- ARt BaM - chgeh ik N ep iH- 2@
SET T 6714 100m ER KBEQ wi1.44 (+2.6)| 2R 7L>(3) wil.44 (+2.6)|BFH [53) w11.45 (+2.6)|H F () w11.49 (+2.6)| 8% [EHE(Q) wi1.60 (+2.7)|EBHK H#EKXEQ) wil.61 (2. D[iED FEEEQ) wi1.64 (+2.6)|BH FEA®Q) w11.67 (+2.6)
BEM- g TRI|FHHFE-F—p TR3|#ri- Rt TR3|#rif FiRE—P TR3|#iB-KFF TR3| &R - Ak eh TR3|Frim-RALSH TR3|#ii5 - /Nteh TR3
e smm 7| 6540 100m T HILG6) w13.13 (+3.0)|B84R E1E(6) wi14.41 (+3.0)| B [HL(5) 14.61 (+0.6)| K& )1l H(6) w14.68 (+2.6)| S EHR(5) 14.77 (+0.6)| 258 FEAX(5) 14.82 (+0.6)[#i4 EA®5) w14.90 (+3.0)[ AL RA(6) w15.03 (+2.6)
LIEt=TFC o537 BREELIOFE>FITT fIEEFAC LIEf=TFC Nwo57 ED LN LIEt=TFC
6H4R 1500m ik ERG) 5:23.85|%+ B A®5) 5:24.97|3 £ fAER®6) 5:26.70| K& HBL#(4) 5:50.26(F )1l WAFE(5) 5:57.50| A FEH(5) 5:57.64|EFH F4) 6:25.91[/N87 E#E4) 7:00.06
#Hios57 ZDEN LIEf=TFC LIE=TFC B/ LIEf=TFC LIE=TFC LIEt=TFC
FMIISTA 1:01.03|EBEEEDDFE>FI5T 1:03.04|##2957B 1:05.41
BHMR AIE(6) EAM EEG@) opix #0(6)
6H4H | 4x100mR [ FAAG) B HEG) BEE EAG
BEAR 1&#H(4) INFR B 3H(5) [F7: WP N (O]
Bk EARG) A {a#k6) R ATHG6)
6H4H e ALl R2916) w3.93 (+2.9)[ & [Z3H4) 3.80 (+0.9)| A H IA(6) 3.74 (+0.9)|EE BL(5) w3.40 (+2.5)|BE /R AHE(6) w3.34 (+2.5)[BE & EA(4) 326 (+1.3)[1R L EA®) 3.24 (+1.9)|5N4E  F0(6) w3.21 (+2.3)
LIEt=TFC LIEt=TFC LIEf=TFC REELIDOFE-FITT woz7 o579 LIE=TFC o357
Swmen T | 6H4n 100m B HAEWR) 59.88|1Ek E&X(2) 1:02.40| 5% E5(2) 1:03.31|{&BE FEQ) 1:04.71| BB 1&Z®1) 1:11.25
BaM - thgerh FHEE-AAP FHE RGP i KR AER-ARdsp




WA - k53 2022/6/4 =R R
Btk 20224F-FE ZF AR B X R AR e R AR g
Bt NI A7 T Rie B FLERET Pt |
FHH K4 Ml B g thh 4 Fe Tl
A4 &R A 20 3NL 4z 5L 6L {402 8fir
simer | enan 200m B K2 26.55 (-0.9)| €& HTEQ2) 27.01 (-0.9)|f #3£(@) 27.36 (-0.9)|&FH BUTEQ) 27.60 (-0.9)|F5H HE@Q) 27.75 (-0.9)|/NA  HIEQ) 28.10 (-0.9)| 2% 1E@M) w2817 (+2.1)|& B EAE®) w28.18 (+2.9)
R F T TR|#i5- Kz TR|#ii5 $EE—h TR| iR Kfseh TR|##ME-AHH TR|# L-F EE—h #NAME?| ER-ARH & - KR
6H4H 800m RiE BKRQ) 2:2537|RiF &HFXQ) 2:30.66|7%F () 2:31.56| (R MJ(3) 2:33.81|E1E FIR@O) 2:34.16|8REF ZHEQ) 2:35.36| AE (1) 2:36.81|70—K HEXQ®) 2:39.23
AR-ARILF TR|ER-ARde iR -BEH FFE - RIBH HFFE-RIER FHEE-F—p i H®Rop ;iR htep
6H4R 1500m RiE BKRQ) 4:58.72[itiA IRZH(3) 501.71E# #E() 5:08.97| A1 HHQ) 5:09.98| 85K ZEF(2) 5:20.37|AE (1) 5:22.32|i&i% 3EAQ) 5:24.81| 5k A TEW) 5:25.36
AR-ARILF TR|#i5 $EE—h TR|ER ARt TR|ER ARt TR|ER-ARF FiR-#®Ep HFEERIER AR -FERdSp
6A40 L00mH BIEII LK) wi15.02 (+3.4)|4R1E 57=(3) w15.36 (+3.4)| AR () w16.81 (+3.4)|#E L£ZE(@3) w17.06 (+3.4)| Il L HE(@3) wi7.75 (+3.4)[ Ntk ZE(@3) 18.48 (+1.6)| hni #E(1) w18.80 (+2.4)|HEF HZH(3) 18.98 (+1.6)
HiR- A5 TR|#iR- I\ #ih TR|#iAm - AF TR|#HHME - RE+H iR FEE g R - R FEE - EHT FR-AFS
;iR K FHA 52.61| 35 - AP HA 53.04|#iis - /NETeh 53.36|#TFME - A A F 54.00| B R - A AR A 54.01|#ii5-FEE 54.20| 315 K+ 54.25| A& B5 - KR A 54.27
BE 1E®) ik iR FH #F%Q I <BA(3) KB ZiDN3) fIER #5A @) SH FIKEQ) EE OLME®R)
6J14H 4x100mR  |&3# FUIEQ) R EH EXQ) TR M EEZR() TR HH HEQ) B #iG) HH HDAQ2) AAR FEQ2) INE RAEQ)
FI #EQ) ki HEQ) JIIE SHTER) =H TEG) Him {E3EQ) HH BEQ) BE BXOQ) IR BEF(2)
8 FIEQ) B i2) RiE 57=(3) B CHER) BEAE K2 FHH EEQ2) BAEJI 1K) #AH BHEE)
6 A4 - HH EHQ2 140|178 ZETE(2) 13545 KA 1.35| 48T ZEK(2) 1.35|/NG HFi(3) 1.30|h ¥ #HZE@3) 1.30|FH1F #W@3) 1.30|E48 LMEQ2) 1.25
FR- R FER D Fa 2 85 - KR e ;iR KRzh FHEE RIBH #HEM-Ep HHEE-A)IH AR-ARH & - kRS
674 - WA AR 250/ FKR tiE®1) 1.90| R#F #5Z(3) 140/ KB BE(©2) 1.00
HHEE - RED TR|$T %M - RiEH TR|FHME - KA H RE- AT
67140 - i EO) 502 (+1.8)[FLLL HEABK(3) 473 (0.0)|E¥5 ZEF(3) w446 (+2.2)|#B% H2FI(3) w4.45 (+2.9)| KiE F3E(2) w42 (+2.7)| K& K@) 425 (+1.0)[/\E (@) wa.20 (+2.1)|EHF TE@Q3) 4.18 (+0.3)
HHEBE-F—f TR|#i5- R FHm TR - 2EEH Jb3E -2 i KR ;iR N AR-ARH FHE-RALP
674 P Il ERG3) 1057|lua 4&F3) 9.15[ KA TEZXR(E3) 9.07| K+t HE®) 9.05| 81l ££@) 8.83[MEE ZZA(3) 855:&M@ TEXETI(2) 851 &R TEZFA) 8.36
1k B % ch TR|FEE-LHES ;iR LA #LE-gRAH BRM - g wR-H®Rp iR K FHRE-LEFH
640 | v~y an— HI ERG) 38.63(fR el #HERA(1) 2493|158 Q) 21.20[/M 8 HIUQ) 15.48 1A #5E(2) 12.56|E8% K2 () 1242|[RE 5N 8.04
{EiE- % R htep ;R htep FFEE-LEFSD BaM - g FHEE-RED FHEE - RER
6h4n | s S <BFAE3) wi1878|HEA #TE(3) w1875/t EREEZ(3) wi1827|/VR iEM(2) w1711 EH3) wi607|HK#E I Hh@3) w1592| Bk 7£(2) w1507|E&éf fE5E(3) w1249
FHEE-ANAP db3% - R ;R FEA-EL AR EIE TR ke wR-H®Rp HR-Ftks HR-FEkD
640 100mH w17.12 (+3.4) w 17.05 (+3.4) w 16.99 (+2.3) w 17.76 (+2.3) w 17.94 (+3.4) w 17.29 (+3.4) w 19.17 (+2.3) w 17.76 (+3.4)
64H Ak 1.30 1.20 1.25 1.30 1.30 1.15 1.20 NM
674H AL 7.98 7.72 6.56 7.40 6.44 7.19 6.47 6.27
640 200m w 29.91 (+2.9) w 28.51 (+2.9) w 28.88 (+2.9) w 30.80 (+3.5) w 31.16 (+2.9) w 30.99 (+2.9) w 29.48 (+3.5) w 30.50 (+3.5)
s |eqan oom | BE PED wi3.53 (+4.7)|fRER HER(T) wi13.74 (+4.7)| HATH #E(1) w13.82 (+4.7)|5EHE EHE(1) w13.99 (+4.7)| L& F13=(1) w14.09 (+4.1)|BTE (1) w1410 (RA.D| BN HT3(1) w14.23 (+4.7)|/INbE (1) w14.36 (+4.1)
FHERE-ARALP TR1|#iR- Nt TR1|#iiR- N teh TRI|BAA -t & TRI|# L-F EFE—dh TR1|HHHE-FE—h TRI|FHE-E— FR- KPS
LT 6714 100m A K2 w1259 (+2.7)| &8 BTEQ) wi12.90 (+2.7)|@H Wi5(2) wi13.16 (+2.7)| BB A2 w1344 (+3.4)|BHE HEQ) w1355 (+3.4)| 1k #E(©) w13.58 (+3.6)|HE HDA(2) wi13.58 (+3.4)|iE:8 BTEQ) wi13.67 (+2.7)
HR-FEkG TR2|#i8- Kz TR2|#HiiB-KFh TR2|#ii5- @At TR2|#iB-KF TR2|#iB-KFh TR2[ %R -FTEFE=H TR2|#iiR- N teh
34T 651 4H 100m BAEI 10 3E(3) wi12.71 (+3.4)|#3E 57=(3) 12.87 (+1.8)| &HH MHEQ) 12.95 (+1.8)| 28 11:3E@Q) 13.28 (+1.8)[f #H3X(@Q) 13.30 (+1.8)[FE K= wi13.47 (+3.4)|1LIE 10 ZR(3) 1353 (+1.8)|FZH EAEQ) w13.60 (+3.4)
iR S TR3|#i- e TR3|#FMA - AA TRI|ER- AR TR3|#1iR-#EFE—F TR3|#i - NE e TR|FTFH - LEFH R 2 8% - K R e
s | 6 4n L00m B S<506) w13.86 (+3.1)|FE#E #5(6) w14.60 +3.1)|HR 4 BFE6) 14.70 (+2.0)| )1l Z2HE(B) 14.77 (+2.0)| %% [B[AI(6) w1500 (+3.1)|[{EE BXH#E(5) w15.26 (+3.5)[EE FIH(6) 15.28 (+2.0)| 1AL —7E(6) 15.36 (+2.0)
LIEt=TFC o357 wHos57 LIEt=TFC LIEt=TFC LIEF=TFC o537 Fa & BFAC
6448 200m IR EFHEB06) 2:38.10(E2 FIHI6) 2:39.33( 4L —7E®) 2:4768[HF [FAH\5) 2:55.80| R &I 55505 2:56.87|tkikE L) 2:59.57| %ith i) 3:00.58(;T48 #E7K(6) 3:03.21
LIE1=TFC o357 fIEEFAC LIEf=TFC LIEf=TFC FRIN BRAS1=TELSST BREELIOFE>FITT
o357 1:00.27|BEEEDDFE>FITTA 1:03.97|BEELIDFE>FITTC 1:04.91|BEELDFE>FITTB 1:05.92[fANC1=7EL B 1.0897|BBAC1=7REL A 1:11.41
REE FIBG6) B EE6) T4 3FAR(G) Eith HEEG) Wi Fix@) R LTHE)
6/14H 4x100mR | HE 5 HF6) BlE ®BE6) KE BFEG) BiE HiEo5) BH EXHE@ B8 BXG)
%E EKE@4) =18 ELTh6) FIA  EH6) Eig HMEG) KA TE@ EiE MERG)
E# #56) EE ) SIHE #54%(6) ML BEE(S) J\IE FHE@4) A EEG)
6H4R e EH RR6) 3.83 (+0.8)| 1k RXHE(5) 3.60 (+1.9)3FHA 3<4HR(6) 3.58 (+1.9)[ 1L ETHF(6) 3.53 (+2.0)|E i EE6) 3.32 (+1.8)| K HFKG) w3.22 (+2.7)| Bl & (6) 3.15 (+1.9)| M0k 48 A (5) w3.08 (+2.3)
LIEt=TFC LIEt=TFC REELIOFE>FITT LIEt=TFC BREELIOFE-FITT BREELIOFE>FITT BREELIOFE-FISTT LIEt=TFC

w (wind assist) : JBJEZH
NM (No Mark) : FR#RfEL
TR : (5 i@ Tk




